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1

Hierocrypt—3

Hierocrypt—3

11

SPN
SPN

e Feistel
Feistel

Feistel

11.1

SPN
S-box

128

Feistel

Feistel 2

SPN

S-box

S-box

SPN

16
SQUARE
MDS

128

128

Rijndael
)

192

SPN
Feistel

256

(MDS )

MDS

S-box

16

S-box

SQUARE

4

4

SPN
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[5, 6] SPN SPN S-box
SPN
SPN
MDS
SPN
SPN
D SPN S-box ( : SPSP...
° MDS ( S-box )
o SPN ( S-box )
° S-box ( )
S-box
S-box SPN SPN
MDS S-box
S-box S-box
128 Hierocrypt—3
e S-box 8
°2 ( )
° 2 SPN
D ( )S-box 4
S-box 8
S-box
2 3
2 SPN (SPS) S-box
S-box 4
S-box 8
1.1.2 SPN
SPN
( )S-box

SQUARE

SPN
SPN

PS)



1.2

Hierocrypt—3

1
on-the-fly
Hierocrypt—3 256
256
256 SPN

on-the-fly
256 128 2

Feistel F

Hierocrypt—3

1,2

1 256

Feistel
256
64

on-the-fly

64



2

Hierocrypt

2.1

21.1

la)
1b)
1c)
1d)
le) SQUARE
1f) truncated

1g) impossible

2.1.2

2a)
2b)

2¢) on-the-fly

2.1.3

3a)
3b) RAM

3c) ROM



2.2

22.1
Hierocrypt—3 SPN SPN SPN
S-box SPN SPN
) SPN MDS S-box
SPN 2
° S-box
[}
128 Hierocrypt—3
° 128 XS 128 (
YM DSy XS
° XS
e XS 32 s 4
® s 4 8 ( )S-box 2 32
° S-box
e S-box
° (MDSy)
. (MDSy)
[}
2.2.2 S-box

S-box
i)

ii)

iii)

iv)



1: S-box

i 1a,1b
ii lc,1d
i | 1c,1d
iv lc,1d
2.2.3 MDSy,
MDSy,
i) (MDS)
ii) S-box (
iii)
2
2: M DSy,
i lc,1d
ii lc,1d
iii 3c
2.2.4 MDSy
MDSy
i) (MDS)
ii)
iii)
iv)
3
2.3
2.3.1 S-box

S-box Hierocrypt—3

S-box



3: MDSy

i le,1d, le,1f
ii lc,1d,1le,1f

i
ii)
iii)
iv)
dps lps
dp® = max #{z|f(z) ® fz ® Az) = Ay}.
Az#0,Ay on
_ . 2
Ipf = max |2- #{z|z - Tz = f(z) Ty} 1
T'z,I'y#0 an
N
GF(2M) N—38
2—6
GF(28)
( )
mdsry,

mdsiy,

s(x(s)) = Add(Power(Perm(xs)))) -

yi) = Perm(zs))
Yi(1) = Tx[i](1) »
Power : GF(2%) — GF(2%),
Power (z(s)) = x(5)**" ,

Add (13(8)) = x(g) ®© O0x07 .

247

2—6

9—-N+2

B+ 241

S-box



0x07
( 0.09375) 8-bit T(g)

Tig) =1

247

2.3.2 mdsy,
mdsy,
i) (MDS)
ii) S-box ( )

iii)

GF(2%)
MDS

GF(2V) MDS

ii) iii)

mdsr,

C4 65 C8 8B
8B C4 65 C8
C8 8B C4 65
65 C8 8B C4

GF(2%) 16 C )

82 C4 34 F6
F6 82 C4 34
34 F6 82 C4
C4 34 F6 82
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2.3.3 MDSy

M DSy
i) (MDS)
ii)
iii)
iv)
M DSy i) mds;,  MDS mdsy,
8 S-box 5 MDSy
s 5 MDSy
GF(232) 4 4
GF(2%2)
MDS
MDS(m,n) m n MDS ( )
(2m,m,m+1) n'
n' n'n (2m,m,m + 1)
MDS(m,n'n)
n' MDS(m,n)
MDS(mv n)j P Tpl144(n) ||$n’»2+j(n) ” T Hmn’»m-l-j(n)
= Yn' 1435 (n) ||y’rb’2+j(n) || e ||yn’m+_](n) ; 1< ] < n’ 5
Lk(n)sYk(n)
Xz(n’n) = xn’-i+1(n) |‘$n’1+2(n)|‘ e Hxn’-i—&-n’(n) )
}/z(n’n) = yn’»i+1(n)|‘yn’»i+2(n)” T Hyn’»i-i-n’(n) , 1<i<m.
MDS(m,n'n)

MDS(mv nln) : Xl(n’n)||X2(n’n)|| e ”Xm(n’n)

MDS(m,n'n) 1 MDS(m,n),
n Tn/iti(n)» Yn'i'+j(n) m+1
n n'n Xi(nm) Yir(nrn) MDS(m,n'n)
MDS q
GF(2) 4 4  MDS QF(24
32 MDS n=4,n" =8 m=4
S-box 8 4
GF(2%) 4 4 MDS(4,4) 8

11

32

n
MDS(m,n)
MDS(m,n'n)



MDS(4,32)

S-box
GF(2)
SPN MDS
SQUARE SPN
S-box
1
2 S-box 4
M DSy
4 MDSg
3,5,6,7,A,B,C,E 8
[SQUARE MDS
1. GF(2%)
2. MDS
3. GF(2%)
4.
2
55AE
ES55A
AEGSS5
5AES
GF(2%) 16
BEEG®G
6 BEE
E6BE
EEG6B

MDS(4,4)
MDS(4,32)
16 16
SQUARE Rijndael
1
256 256
SQUARE
2 S-box 4
S-box
2
GF(2%) GF(2%)
GF(2%) 16
mdsr,
]
4
4
224+ z+1
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2.3.4

pn)

pn)

ii)
iii)

iv)

(MDS)

ii)
i)

iv

~—

yl(n) 1010 Il(n)
yg(n) 0111 :Eg(n)
y4(n) 1011 134(11)
2 involution
1010 1000 1010
0101] 0100 0101
0111| Jo110 0010
1011 1001 0001
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128 Hierocrypt—3 Hierocrypt—3 3
128 192 256
3.1
n (n) n 16
16 1 n big endian
Xy n MSB
Tn(1)
Xy = nillz2@yll - llznq) -
1 MSB 1
X(mn) = T1m)l|T2(m)ll = |1 Tm(n) -
Tin) LSB 1-n Tin(1)
128 X128y 4 32 X1(32), X2(32), X3(32), X4(32)
X(128) = X132)[[ X232) [ X3(32) [ Xa(32) >
32 4 8
Xi(32) = $4¢—4+1(8)H$4¢—4+2(8)H T H$4¢(8) s 1=1,2,3,4,
8 8 1
zj8) = Tgj—sr11)|1z8i—sr2)ll -+ lzgiy ,  7=1,2,3,...,16.
3.2
3.2.1
Hierocrypt—3 T (T-1) (p ) XS (XS)
(AK) (2 o
0 _
T 128, 192, 256 6,7,8 X =
P2y
(t) (t-1) (t)
X128 X128 K 556 ¢ p

) _ (t=1) 7-(t)
Xag) =P (X K

(128) (256))7 t=12,---,T—-1

14



( B S —Kids
ID -7 A EEEEEEEEEEEEEEN
L | S | | s]s] 5] 8] 5] s] 5] s s]s] 8] 5] ] 5] 8] 5]
i B
(o]
X((]zig) Y | MDS. | | mds. | mdSLl mds; | md§L|
\ C I 1T T T 1T 1T T T 1T T 1T T T T7
o] oK) K%
X(I»:j \ 2120 +HHH+$HH2+2$H
(128)I \\\ | S | [s] 9| s ] IS’l:S’|S|S|S|S|:S‘|S|SlSI:S’|S|
‘\ nnmnm
A
0 | MDS, || MDS,, |
X2ty \
XS
Xt
AK
C(]ZS)
1: Hierocrypt—3
Pag) = X((?%s) = X((Bs) R X((gg)l) X((fz)g) '_K> 0(128)
2: Hierocrypt—3
Xz Xlias) K (550) X5
Xi = X8 (X0 K ) -
Clazs) T X(<1T2>8) ( <T+1>HK<7$)1>) (AK)
Clazs) = X((:Qs) @ ( (T+1)HK(T+1)) .
3.2.2
XS (XS~ (T -1)

()
(T) (T+1) (T+1)
X(128) Cli2s) © (K HK ) )
(T-1) (T) (T)
X(128) =X5” ( (128)° K(256)) )

(t 1)7 — (t) (®) B
x5 = o1 (X(lzs),K(256)) t=T—1,....2.1.
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Py2g) x©

(128)
_ v
Pas) = X(128) :
3.2.3
(t)
t Z(356)
(®)
K(256) 2

padding ,(-1) o 0 o L) o L2  © o 7 (twrn)
K (1ength) ’—1> Z (256) — %(256) '_1> Ziase) T Liase) T Z(2t56)
o (teurn+1) o g (T+1)
> Ziggey T Digs)
3: Hierocrypt—3 ( )
1 <t <t 0 tum +1<t<T+1 ot
128 192 tiurn = 4 256 tturn = O
t = tiurn
@t  _ (2teurn—t)
Z(256) - Z(25t6) ) tturn + 1 S 4 S T + 1.
(t) (t)
t Ziosey ¢ Kisey 1<t <T+1) 4
®  _ 0 (t) () (t)
Zaze — ol il e iy
t t t t t
K(256) = K1(64)||K2(64)HK3(64)HK4(64) :
3.2.4
2 4 32 2

Hy = 0x5A827999 = trunc (\/5/4) ,
H; = OX6ED9EBAL = trunc (V/3/4),
Hy = 0x8F1BBCDC = trunc (v5/4)
Hs; = 0xCA62C1D6 = trunc (\/E/4) ,
trunc(z) = |23z |
Go(0) = H3||Ho , Go(1) = Ha|H, ,
Go(2) = Hil|Hs , Go(3) = Hol Hz ,
Go(4) = Ha||H3 , Go(5) = Hy||Hp -
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-1 -1) 'a)) &)
Z (o4 L4y Z364 Z aes)
Msi| M
o F, D SE}(O) st Oo
____________ ~orl = = = |0 = = = — -
Z7) ram 29 ZEF 5 7y
TR W
Mg Msg| 2
K (1) g
1(64) G
0 I 72
(1)2(64)‘4 NV AN
KD 3(64) = &

urn-1 urn- (tfurn-1) tturn-1
Z(tt ><Z(; 1) Z3 Z(4t )

1
<> &l G/\ (tturn- P(32) (tturn-1)
Wl W 2
(trurn) Msy|  [Ms o)
K 1(64) (tturn)
K(tturn) pm—
K(tturn364) - <> D
. 3(64) - ()
I(g(tgzl)) (tturn Z (tturn) Z (tturh) (tturn)

_______ Z _1 ________ZAL______

(tum+1) /EEG(WM)
turn;
M M,
K4 B l:g%l 1

K(tturn)' 1) - D ~ W(ttum W(ttum’ 1) O-

gtturn i 1) 4 2

K(ttum 1 q ant 1 Fo- I ({} I P32)—I |
4(64) (tturn't 1)l Z(tmm 1) (tegrnt 1) Z(tturn )
Z] 2 Z3 4

e

\L/

G(T+1)
T-+1
. (1(24\) D Mg . 1\1/§B3| p
(T%2(64) -— N ~ Wi wi o
- 2
(TI§)3(64) Fan F L P(32)-1
(64) “ B N
T+1 T+1)
Z(l ’ )V "Z(z Z(ST'I) ZE‘T' )]
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3.25

Ziose) K (lengen) (length = 128, 192, 256)
(0)
0o Z(256) 128 192
32 H;
[ 128 ]
K64y |1 K264) = K(128) »
(-1 _ (-1 _ (-1 _ (-1 _
Zl(64) = Kiea) > Z2(64) = Kaea) Z3(64) = Ki(ea) Z4(64) = Hsl|H> .
[ 192 ]
K1(64) 1 K2(64) [ K3(64) = K(192) »
(-1) _ (-1 _ (-1 _ (-1 _
Zl(64) = Kies) Z2(64) = Kaes) Z3(64) = Ks(e4) Z4(64) = H,||Hs .
[ 256 ]
K1 (64) | Ko(6a) [ K3060) |1 Ka(64) = K (256) »
-1 _ (-1 _ (-1 _ (-1 _
Zl(64) = K64 » Z2(64) = K4) » Z3(64) = K3(64) » Z4(64) = Ky(ea) -
[ 1 (o0 )
1
p(32)
) (-1 (0)
Z(256) =00 (Z(zs(s)7 G(64))
0) _ (-1 (0)
Z3(64) = Msp Z3(64) b G(64) )
(0) (=1
Z4(64) = Msp Z4(64) ’
0) _ (-1
Zl(64) = Z2(64) J
0) _ (-1 (-1 (0)
Za6a) = Z1(60) D I <Z2(64) ® Z3(64)) .
(0)
Glos)
0
Gloy = Go(5) = Hy||Hy
3.2.6 (o )
(®) _
Z(256) t = fturn g
U_l t = tturn
#)  _ (2teurn—t)
Z(256) - Z(25t6) ) tturn S 4 S T + 1.
(1 S t S tturn)
t<T+1)

18
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4: 128 6 ) (T =6, toun = 4)

t GYo,
—1 (padding) — — H3||H2
0 (dummy) — oo 64) = Go(5)
L K((zlga) G(64) = Go(0)
2 K, Gy = Go(1)
3 K5 G&) — Go(2)
4 K((;lga) 64) = Go(3)
5 K((QSL'})G) - G(64) = Go(3)
6 K((QGQG) ! G(64) = Go(2)
7 K((gga) - Gg@ = Go(1)
5: 192 (7 ) (T =17, toun = 4)
t Glon
—1 (padding) — — H,||Hs
0 (dummy) — 09 Gggl) = Go(5)
1 K, Glgh = Go(1)
2 K3, Gy = Go(0)
3 K((S’Qm G@g = Go(3)
4 K((gga) G§64) = Go(2)
5 KS | o7t | Gy = Go(2)
6 K((z()ga) o’ G§231> = Go(3)
7 K | o7t | Gy = Gol0)
8 K((zsga) o G§§l> =Go(1)
( )N (1<t <toum)

(t) (t-1) (t
Zidse)y = O (Z(256) ) G(64))

(t—1) (t—1) (t
Wi IWsie) = P (25 125.0)

t—1 (t
23%4) = Msp W1((64)) 8% G(6)4) )
(t) (t=1)
Z4(64) = Msp W2(64) ’
)  _ -1
e e S
Z2(64) = Zl(64) © Fo, (22(64) ® Z3(64)) .

19



6: 256 8 ) (T =8, toun = 5)

t o
—1 (padding) — — —

0 (dummy) — oo 64) = Go(5)

1 Ky | o |G, =Go®

2 KR | o | Gy =Gol0)

3 K3l | o G&) = Go(2)

4 K((;lga) v 64) = Go(1)

5 K | o | Gy =6o3)

6 KQ | o7t | 6, = Go(3)

7 K | o7 | Gl = Go(1)

8 KEg | o7t G§§4) = Go(2)

9 K((zgga) o 64) = Go(0)

[ ( M (fum +1<t<T+1)

(®) - (t=1) ~(t
Z(256) 1<Z(256 G(64))

2%4) = Zéz(;;l)) o Fy, (Zﬁgle)) ® Zéé(;xl))) J
25254) = Zﬁe;l)) ’

Witk = Mas (258 € GQy))
W2%4) = Mps3 Zﬁe;l))) )

-1 (t) (t)
3(64 ||Z4(64) = p(?) <W1(64)HW2(64)) .

3.2.7
[ ( )] (]- S t S tturn)
®) (t-1) o (1)
Vieay = F<Z<>@Z<64>)v

(t)y _ H(t=1) (t)
Fagon = Zyon @ Vo)
Katon = Zyon © Vi
_ t
R~ Ton T
K4(64) = Z2(64) ® Z4(64) :

20



3.3

Kse)

( N (tum +1<t<T+1)
) _ (t—-1) (t—1)
Viesy = I <Z1(64) ®Z3(64)) ;
)  _ L1 (t—1)
K
t _ t t
oo~ T O ey
i e
K4(64) = Zl(64) 69VV2(64) :
)
X(IZS)
L ;
E .}(S K @ . .
| E S s o ae ! | E
N I I R AR
0 MDSUxin e | e L
o Lmds Tmds Tmdsi Tmds 1% 0
E ! Koz @ : :
A S Y S S
A I I EE o
MDSn
Y(128)
o:

21



3.3.1 P

0 XS M DSy
Yi28) = p (X128, K(256))
p (X(128), K(256)) = M DSy (XS (X(128), K(256))) -
p ! MDSg! Xs-1

X2s) = p ' (Ya2s), K(256))

p~t (Y(128),K(256)) =X5! (MDSﬁl (Y(lzs)) 7K(256)) .

3.3.2 XS

XS S 128 MDS,

Yiios) = XS (X(128), K(256))

Ki(128) | K2(128) = K256)
XS (X(128)7K(256)) =S (MDSL (5 (X(128) D K1(128))) @ K2(128)) .

Xs-t St 128 MDS;!

X(128) = XS (Yia2s), K(256))

Ki(128) | K2(128) = K256)
X571 (Yaos), Kasey) = S~ (MDS (571 (Yaazs)) @ Ko(12s))) @ Ki(azs) -

333 S

S 128 8 16 s

Yias) = S (X(128))

z18)l|Taes) [l - |716(8) = X(128) »
Yi128) = s(w18))lIs(z2s)) I - - Is(z16(8)) -
S—l
X128y = St (Y(128))

yie)llv2@e)ll - lyie(s) = Yazs)
X(128) = 3_1(91(8))||3_1(y2(8))” Hs_l(yw(s)) .

22



3.34 s

s 8 S-box
Yy = s(zs))

(s(00) s(01) s(02) ... s(OF) s(10) s(11) ... s(FF)) =
( 07 FC 55 70 98 8E 84 4E BC 75 CE 18 02 E9 5D 80
1C 60 78 42 9D 2E F5 E8 C6 7A 2F A4 B2 5F 19 87
OB 9B 9C D3 C3 77 3D 6F B9 2D 4D F7 8C A7 AC 17
3C 5A 41 C9 29 ED DE 27 69 30 72 A8 95 3E F9 D8
21 8B 44 D7 11 OD 48 FD 6A 01 57 E5 BD 85 EC 1E
37 9F B5 9A 7C 09 F1 B1 94 81 82 08 FB CO 51 OF
61 7F 1A 56 96 13 C1 67 99 03 5E B6 CA FA 9E DF
D6 83 CC A2 12 23 B7 65 DO 39 7D 3B D5 BO AF 1F
06 C8 34 C5 1B 79 4B 66 BF 88 4A C4 EF 58 3F OA
2C 73 D1 F8 6B E6 20 B8 22 43 B3 33 E7 FO 71 7E
52 89 47 63 OE 6D E3 BE 59 64 EE F6 38 5C F4 5B
49 D4 EO F3 BB 54 26 2B 00 86 90 FF FE A6 7B 05
AD 68 A1 10 EB C7 E2 F2 46 8A 6C 14 6E CF 35 45
50 D2 92 74 93 E1 DA AE A9 53 E4 40 CD BA 97 A3
91 31 25 76 36 32 28 3A 24 4C DB D9 8D DC 62 2A
EA 15 DD C2 A5 OC 04 1D 8F CB B4 4F 16 AB AA A0 ).

5—1

zg) = s (ygs))

(s71(00) s71(01) s71(02) ... s71(OF) s~%(10) s~1(11) ... s~I(FF))

( B8 49 0C 69 F6 BF 80 00 5B 55 8F 20 F5 45 A4 5F
C3 44 74 65 CB F1 FC 2F OB 1E 62 84 10 F7 4F 7F
96 40 98 75 E8 E2 B6 37 E6 34 EF B7 90 29 15 1A
39 E1 E5 9B 82 CE E4 50 AC 79 E7 7B 30 26 3D 8E
DB 32 13 99 42 CF C8 A2 46 BO 8A 86 E9 2A 07 FB
DO 5E AO D9 B5 02 63 4A 8D A8 31 AF AD OE 6A 1D
11 60 EE A3 A9 77 87 67 C1 38 48 94 CA A5 CC 27
03 9E 3A 91 D3 09 E3 25 12 85 19 BE 54 7A 9F 61
OF 59 5A 71 06 4D B9 1F 89 Al C9 41 2C EC 05 F8
BA EO D2 D4 58 3C 64 DE 04 68 53 21 22 14 6E 51
FF C2 73 DF 1B F4 BD 2D 3B D8 FE FD 2E CO D7 7E
7D 57 1C 9A FA 52 6B 76 97 28 DD B4 08 4C A7 88
5D 66 F3 24 8B 83 18 C5 81 33 6C F9 72 DC OA CD
78 92 D1 23 B1 7C 70 43 3F EB D6 EA ED F2 36 6F
B2 D5 C6 A6 DA 4B 95 9C 17 OD FO C4 4E 35 AA 8C
9D 56 C7 B3 AE 16 AB 2B 93 3E 6D 5C 01 47 BC BB ).

3.3.5 MDS,

MDSy, 128 4 32

mds,

Y128y = MDSL (X(128))

X132) 11 X2032) | X3(32) [ Xa32) = X(128) »
Y{(128) = mdsL(X1(32))||mdsL(Xos2))|[|mdsL(X3(32)) [|mdsn(Xas2)) -

23



MDS;!
X(128) = MDS[ ' (Y128))

Yi(32) | Ya32) [ Ya(32) | Ya(a2) = Y(12s) »
X(128) = mdsy " (Yi(s2)) [mdsy ' (Yazz)) Imdsy  (Yasz))mdsy ' (Yags)) -

3.3.6 mdsg,
mdSL GF(28) 4 4 X(32) 4
T1(8)s L2(8)) L3(8)» L4(8) GF(Qg)

Y(32) = mdsy, (X(32))

z1(8)l|22(8) [|3(8) 1T 4(8) = X(32)
Y(s2) = y1(8) ly2c8) 1y3(8) 1Yacs)

) C4 65 C8 8B Z1(8)
Ya(s) 8B C4 65 C8 | [ a)
Y3(8) C8 8B C4 65 Z3(8)

) 65 C8 8B C4 T4(8)

Y18

Ya(s
mdsi1

X@32) = mdsfl(y(sz))

y1(8) lv2s) |yas) [|yacs) = Yis2) »
X(32) = T18) |72(8) | 23(8) [|Tacs)

Z1(8) 82 C4 34 F6 Y1(8)
2w | | F6 82 C4 34 | | yas
zas) | | 34 F6 82 C4 | | yss
T4(8) C4 34 F6 82 Ya(s)
8 Z(8) a (16 ) GF(28)
( )

8
() < in(l)zg_i ,
=1

7 7
_ i 7
a= E a;2' & E a;z" .
i=0 i=0

GF(2%) B8+ +24+1
3.3.7 MDSy
MDSy 128 16 8 2is) (1 < i < 16)

1‘1'(8) GF(2)8

24



M DSy

MDSu(X(128))

Y(128)

216(8) = X(128) >

yl(S)Hy2(8)H
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3.3.8 p®

pn) 4 n Ti(n) (i=1,2,3,4)
GF(2)"

Yv(4n) = P(n) (X(4n))

Il(n)H$2(n)||I3(n)||$4(n) = X(4n) )

Y1(n) 1010 T1(n)
Ya) | | 0101 To(n)
sy | [O1 11 Z3(n)
Ya(n) 1011 Ty(n)

X(any = PO (Yaw)

Y1n) 1920 |Y3(0) 194y = Yian)

Xan) = 1) |Z2(m) |30 1Za(n)

T1i(n) 1110 Yin)
Tamy | | 1101 Y2 (n)
Zamy | [ 0110 Y3(n)
Z4(n) 1001 Ya(n)

Xim X Xam  Xa yl(n) yZ(n) Y3(n) Y4(n)
’ J
N
i 4
D N
¢ 4
57 E
YI(n) YZ(n) y3(n) Y4(n) Xim  Xomy  X3m Xam
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6: P pm~!
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3.3.9 Mg

Msg 64 X (61
Yiea) = Mse (X(6a))
-'El(S)HxQ(8)H T Hiﬁs(g) = X(ea) »
Yiea) = i) lvas) -~ lwss)
y1(8) 1010 .'El(g)
yQ(g) _ 1101 .’Eg(g)
y3(8) 1110 I3(8) ’
Ya(s) 0101 Ta(g)
y5(8) 1111 $5(8)
yG(S) _ 0111 IG(S)
y7(8) 0011 $7(8)
yg(g) 1110 .'Eg(g)

Xigy Xowy Xagy Xag Xsw Xoew) X7  Xss)

AY 4

\1/ 1/
A\ 74

D
\JJ
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Vieh Yy Vagy Vaw Yo Vesy Yisy Vaw
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3.3.10 Msgs

Mgs 64 X(64)
Yi6a) = Mp3 (X (64))
xl(s)HxQ(g)H tee Hiﬁs(g) = X(64) )
Yi6a) = v1s) lvas)ll - - - lus(s)
Y1(8) 0101 Z1(8)
yQ(g) _ 1010 .’Eg(g)
93(8) 1101 .’Eg(g) ’
y4(8) 1011 I4(8)
y5(8) 1100 .’E5(g)
y6(8) _ 0110 .’EG(g)
y7(8) 1011 I?(S)
yg(g) 1001 .’Eg(g)
Xiugy Xowy X3y Xagy Xsw Xow) X1®) Xs@)
L \
L/
aY
L/
\ 4
[ \
L/
J
Vany Fany
\\” LV
YViw Yy Vg Yaw Ysw Vew Ve Vs
8: MB3
3.3.11 F,
F, 64 X (64) 64
Yioa) = Fy (X(60))
z1(8)l|Taes) | - - lzss)y = X(6a)

Y(64) = p{o) (3(551(8))H3($2(8))|| T ||5($8(8))) .
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